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1 100kN/mM%#EZ % - -~ - -|3m#FEZD -~ - - -] 100kN/ Mm%z 5 - -~ - ~-|3m#EFEZ5 -~ - - -
Zn Lot 1.00{ 0.00 ~ 5.07 63.16] ZnList | 000 ~ 0.00| 1.72 8.69 Zzh s 1.00f 500 ~ 540 63.16] Zn iy | 500 ~ 540 1.72 8.69
9 100kN/mM%#E % % - -~ - ~-|3mFEZD -~ - - —| 100kN/ Mm%z % - -~ - —-|3m#EFEZS -~ - - -
Zh s 1.00{0.00 ~ 1.73 2486 ZnList | 000 ~ 1.73] 2.90 14.68 zh st 1.00] 500 ~ 7.44 2486 FnLis | 500 ~ 7.44| 290 14.68
3 100kN/mM##B % % - -~ - -|3m#FEZ5 -~ - - —| 100kN/ Mm%z % - -~ - —-|3m#EFBZ5 -~ - - -
Zh st 1.00{ 0.00 ~ 342 43.42] #=n iyt | 000 ~ 3.42| 248 12.52 zh st 1.00] 500 ~ 7.24 4342 Fhbis | 500 ~ 7.24| 248 12.52
4 100kN/mM##B % % - -~ - ~-|3m#FEZ5 -~ - - —| 100kN/ Mm% 2% - -~ - —-|3m#EFBZ5 -~ - - -
Zhns 1.00{0.00 ~ 649 81.76] ZnList | 000 ~ 6.49| 2.64 13.33 zh st 1.00] 500 ~ 10.26 81.76] #nLis | 500 ~ 10.26) 2.64 13.33
5 100kN/mM##B % % - -~ - -|3m#FEZ5 -~ - - —| 100kN/ Mm% =% - -~ - —-|3m#EFBZ5 -~ - - -
Zh s 1.00]0.00 ~ 6.64 83.82| #nList | 000 ~ 6.64| 2.62 13.27 zh st 1.00f 5.00 ~ 10.50 83.82| #n Ll | 500 ~ 1050 2.62 13.27
6 100kN/mM##B % % - -~ - ~-|3m#FEZ5 -~ - - —| 100kN/ Mm%z % - -~ - —-|3m#EFBZ5 -~ - - -
Zh st 1.00]0.00 ~ 479 59.74] Zn Ll | 000 ~ 479 2.41 12.19 zh st 1.00f 500 ~ 995 59.74] Fhlis | 500 ~ 995 241 12.19
100kN/m#E#BZ % ~ ImEBZD ~ 100kN/mM%Z#8Z % ~ ImEEZD ~
zhs ~ zhn s ~ zh st ~ zhst ~
100kN/m#E#BZ % ~ ImEBZD ~ 100kN/mM%Z#8Z % ~ ImEEZD ~
Zzhs ~ zhn s ~ zh st ~ zh s ~
100kN/m%E#BZ % ~ ImEBZD ~ 100kN/mM%Z#8Z % ~ ImEEZD ~
zhs ~ zhn s ~ zh st ~ zhst ~
100kN/m#E#BZ % ~ ImEBZD ~ 100kN/mM%Z#8Z % ~ ImEEZD ~
zhs ~ zhn s ~ zh st ~ Zzh s ~
100kN/m%E#BZ % ~ ImEBZD ~ 100kN/mM%Z#8Z % ~ ImEEZD ~
Zzhs ~ zhn s ~ zh st ~ zh s ~
100kN/m%#BZ % ~ ImEBZD ~ 100kN/m%Z#8Z % ~ ImEEZD ~
LS ~ ZHLS ~ ZThLlst ~ ZTHLSE ~
100kN/m%#BZ % ~ ImEBZD ~ 100kN/m%Z#8Z% % ~ ImEEZD ~
LS ~ ZHLS ~ ZThLlst ~ ZTHLSE ~
100kN/mM%E#BZ % ~ ImEBZD ~ 100kN/m%Z#8Z % ~ ImEEZD ~
LS ~ FHLS ~ ZThLlst ~ ZTHLS ~
100kN/m%#BZ % ~ ImEBZD ~ 100kN/m%Z#8 % % ~ ImEEZD ~
ZH LS ~ ZHLS ~ Lot ~ ZHLS ~
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